Naranpura, Ahmedabad

Plot Area= 7546sg m
Ground Cover=3773sgm

Zone=R1, DW3

Permissible building height=45 m
Total floors= 12 floors
Permissible FSI= 2.7

FSI Area= 20374 sgq m

Used FSI Area= 18000 sg m

Floor plate area=1500 sq m
Super build up area= 27000 sg m

Unit 1 area= 100 sg m
Unit 2 area=125sgm
Unit 3 area=50sgm

Common plot area=2037.4sgqm

Total parking area=4074.84 sqm

Car parking area=3667.36 sq m

= 146 car parking and 730 two wheeler parking

Visitor parking=407.48 sq m (203.74 sq m on ground floor)
= 16 car parking and 81 two wheeler parking
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